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Derivatives

Definition of the derivative

For each of the following, calculate f'(x) using the definition of the derivative.

1 f(z)=2*—-3z+4 3. fz) =vVz+5
2. f(:v)=% + fm:waz

Differentiation rules

For each of the following, calculate the derivative. Do not simplify your answer.

L fl@)=2"+32*+5e" -2+ /z 11. f(x) = sin®(4z? + 3z) - cos(3z + 2)
2. g(t) =V + e+ F +att 12 f(z) = Ve + ba?
3 p=g'e 3

Y 13, f(e) = —
4. f(z) = (z° + 4z + 3)(52° + z2) (z° + 2z +9)3

3zt 42 (3x2 - 5>
T)=——"T— 14, f(z) = tan
B, fie x2—2x+3 /(@) e
Vi 32 12

6. y=——— _ 2”92

7 cos(a) + o 2. flo) = </ et >
7. h(t) = (£ + 3¢%)° 16. f(z) = sin(cos(tan(x)))

_ 34?425 ]
8. g(t) =e 17. f(il?) — esm(&r)

9. y = (we® + 5x1%)(e3*)
10. h(z) = z*sin(cos(z)) 18. f(z) = I a1
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Difkerenchon Rules
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